Collectanea Mathematica (electronic version): http://www.imub.ub.es/collect

Collect. Math. 54, 2 (2003), 153-161
(c) 2003 Universitat de Barcelona

# Interpolation properties of a scale of spaces 

A.K. Lerner and E. Liflyand

Department of Mathematics, Bar-Ilan University, 52900 Ramat Gan, Israel
E-mail: aklerner@netvision.net.il, liflyand@macs.biu.ac.il

Received September 9, 2002. Revised December 2, 2002


#### Abstract

A scale of function spaces is considered which proved to be of considerable importance in analysis. Interpolation properties of these spaces are studied by means of the real interpolation method. The main result consists in demonstrating that this scale is interpolated in a way different from that for $L^{p}$ spaces, namely, the interpolation space is not from this scale.


## 1. Introduction

We consider the spaces $A_{p, r}$ endowed with the norms

$$
\begin{aligned}
& \|f\|_{A_{p, r}}=\left(\int_{0}^{\infty}\left(\frac{1}{u} \int_{u \leq|\xi| \leq 2 u}|f(\xi)|^{p} d \xi\right)^{r / p} d u\right)^{1 / r} \quad(1 \leq p, r<\infty), \\
& \|f\|_{A_{\infty, r}}=\left(\int_{0}^{\infty}\left(\sup _{u \leq|\xi| \leq 2 u}|f(\xi)|\right)^{r} d u\right)^{1 / r} \quad(1 \leq r<\infty), \\
& \|f\|_{A_{p, \infty}}=\sup _{u>0}\left(\frac{1}{u} \int_{u \leq|\xi| \leq 2 u}|f(\xi)|^{p} d \xi\right)^{1 / p} \quad(1 \leq p<\infty) .
\end{aligned}
$$

The case $p=r=\infty$ is naturally reduced to $A_{\infty, \infty}=L^{\infty}$; moreover for any $1 \leq p<\infty$ we have $A_{p, p}=L^{p}$. In the case $r=1$ we denote $A_{p, 1}=A_{p}$.

Mainly the spaces $A_{p}$ were applied to different problems in analysis. Multiplier properties of $A_{p}$ were considered in [7], though the spaces $A_{p}$ have first appeared in a paper by D. Borwein [5] devoted to summability problems. The $A_{\infty}$ - with the Fourier transform $\widehat{f}$ instead of $f$ - has an even longer history. It was introduced in a

Keywords: Interpolation, Real method, $K$-functional.
MSC2000: 46B70, 46E30.
paper by A. Beurling [4] dealing with spectral synthesis problems. A detailed survey of applications of $A_{\infty}$ is given in [1]. In [8] the $A_{p}$ spaces gave a good example of applying a general theorem on representation of continuous linear functionals. These spaces in the sequence version were mainly used in problems of integrability of trigonometric series. In [9] the asymptotic behaviour of the Fourier transform was studied for functions with derivative in $A_{p}$ or more general space. The latter results were modified and used in approximation problems in [6]. The role of the second parameter $r$ in $A_{p, r}$ is not quite clear in these or different problems.

In [10] the results from [7] were generalized to more general spaces, but in addition interpolation properties of $A_{p}$ as well as $A_{p, r}$ were studied by means of $L^{p}$ interpolation properties of vector-valued functions (see, e.g., [3, Theorem 5.1.2.]). Here we study the same object by means of $K$-functionals, that is, the real interpolation method.

In [10] a misleading statement is given; what is really obtained is Theorem 2.2 of the present paper. However the main result here is Theorem 2.1 in which not only the interpolation space for any pair $A_{p_{0}, r}$ and $A_{p_{1}, r}$ is described but examples are given to show that their interpolation properties differ from those for $L^{p}$ spaces. For the sake of completeness we also prove, in the same manner, Theorem 2.2.

The paper is organized as follows. In the second Section we give necessary notation and formulate the results. In the next Section the proofs are given.

## 2. Results

Recall that the interpolation space $\left(X_{1}, X_{2}\right)_{\theta, p}$ of the couple $X_{1}$ and $X_{2}$ consists of all $f \in X_{1}+X_{2}$ such that

$$
\|f\|_{\theta, p}=\left(\int_{0}^{\infty}\left[t^{-\theta} K\left(f, t ; X_{1}, X_{2}\right)\right]^{p} \frac{d t}{t}\right)^{1 / p}<\infty \quad(0<\theta<1,1 \leq p<\infty)
$$

where

$$
K\left(f, t ; X_{1}, X_{2}\right)=\inf _{f=g+h}\left(\|g\|_{X_{1}}+t\|h\|_{X_{2}}\right)
$$

is the $K$-functional of the two spaces.
It is well-known that for $0<\theta<1,1 \leq p_{0}<p_{1} \leq \infty$, and $1 / p=(1-\theta) / p_{0}+\theta / p_{1}$ we have

$$
\left(L^{p_{0}}, L^{p_{1}}\right)_{\theta, p}=L^{p} .
$$

One may expect that the most important spaces $A_{p}=A_{p, 1}$ are interpolated in the same, so to say natural way. It turns out that this is not the case for them, moreover for most of $A_{p, r}$ which are of the vector-valued type. The " $L^{p}$ type" interpolation occurs when the first parameter is fixed (see Theorem 2.2); unfortunately this case seems to be of less importance to date. In the case when the second parameter is fixed while the first one varies, the interpolation space is of very special structure and contains an "irregular" part as regarded to $A_{p, r}, p \neq r$.

Recall that the non-increasing rearrangement of a measurable function $f$ is defined by

$$
f^{*}(t)=\sup _{|E|=t} \inf _{x \in E}|f(x)| \quad(0<t<\infty)
$$

Given $p_{0}<p_{1}$, denote $\bar{p}=p_{0} p_{1} /\left(p_{1}-p_{0}\right)$. By $a \asymp b$ we denote a two-sided estimate $c_{1} b \leq a \leq c_{2} b$ with $c_{1}, c_{2}$ being two constant independent of essential parameters. Denote by $I_{j}$ the (doubled) dyadic interval $I_{j}=\left\{\xi: 2^{j} \leq|\xi| \leq 2^{j+1}\right\}$. Let $f_{j}=f \cdot \chi_{I_{j}}$, where $\chi_{E}$ is the indicator function of a set $E$.

## Theorem 2.1

Let $0<\theta<1,1 \leq p_{0}<p_{1} \leq \infty$, and $1 / p=(1-\theta) / p_{0}+\theta / p_{1}$. Then
(i) The following equivalence holds for all $r \geq 1$ :
(1) $K\left(f, t ; A_{p_{0}, r}, A_{p_{1}, r}\right) \asymp\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{0}\right)}\left(\int_{0}^{2^{j} t^{\bar{p}}}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{r / p_{0}}\right)^{1 / r}$

$$
+t\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{1}\right)}\left(\int_{2^{j} t^{\bar{p}}}^{\infty}\left[f_{j}^{*}(\tau)\right]^{p_{1}} d \tau\right)^{r / p_{1}}\right)^{1 / r}(0<t<\infty)
$$

(ii) If $1 \leq r<p$, then

$$
A_{p, r} \subset\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}
$$

and the converse embedding is invalid: there exists a function

$$
f \in\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p} \backslash A_{p, r}
$$

(iii) If $r=p$, then

$$
\left(A_{p_{0}, p}, A_{p_{1}, p}\right)_{\theta, p}=A_{p, p}=L^{p} .
$$

(iv) If $p<r<\infty$, then

$$
\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p} \subset A_{p, r}
$$

and the converse embedding is invalid: there exists a function

$$
f \in A_{p, r} \backslash\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}
$$

## Theorem 2.2

Let $1 \leq r_{0}<r_{1} \leq \infty, 0<\theta<1$, and $1 / r=(1-\theta) / r_{0}+\theta / r_{1}$. Then for all $1 \leq p \leq \infty$

$$
\begin{equation*}
\left(A_{p, r_{0}}, A_{p, r_{1}}\right)_{\theta, r}=A_{p, r} \tag{2}
\end{equation*}
$$

## 3. Proofs

Proof of Theorem 2.1 First, note that the norm in $A_{p, r}$ can be represented in a usual way via doubled dyadic intervals $I_{j}=\left\{\xi: 2^{j} \leq|\xi| \leq 2^{j+1}\right\}$ :

$$
\begin{equation*}
\|f\|_{A_{p, r}} \asymp\left(\sum_{j \in \mathbb{Z}} 2^{j(1-r / p)}\left(\int_{I_{j}}|f(\xi)|^{p} d \xi\right)^{r / p}\right)^{1 / r} \quad(1 \leq p \leq \infty, 1 \leq r<\infty) . \tag{3}
\end{equation*}
$$

Now (i) is a simple consequence of (3) and the known formula for the $K$-functional for ( $L^{p_{0}}, L^{p_{1}}$ ) couple (see, e.g., [3, p. 124]):

$$
K\left(g, t ; L^{p_{0}}, L^{p_{1}}\right) \asymp\left(\int_{0}^{t^{\bar{p}}}\left[g^{*}(\tau)\right]^{p_{0}} d \tau\right)^{1 / p_{0}}+t\left(\int_{t^{\bar{p}}}^{\infty}\left[g^{*}(\tau)\right]^{p_{1}} d \tau\right)^{1 / p_{1}} ;
$$

unfortunately, a misprint occurs in [3], namely, $t$ is omitted before the last term on the right; in [2, p. 308] the result needed is given in a more general form.

Observe that for $t>2^{1 / \bar{p}}$ the right side of (1) is equivalent to $\|f\|_{A_{p_{0}, r}}$.
Now we prove (ii). Using (1) and Minkowski's inequality, we obtain

$$
\begin{align*}
& \|f\|_{\left(A_{p_{0}, r, A_{\left.p_{1}, r\right)}, p}\right.}  \tag{4}\\
& \leq c\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{0}\right)}\left(\int_{0}^{\infty} t^{-\theta p}\left(\int_{0}^{2^{j} t^{\bar{p}}}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{p / p_{0}} \frac{d t}{t}\right)^{r / p}\right)^{1 / r} \\
& \quad+c\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{1}\right)}\left(\int_{0}^{\infty} t^{(1-\theta) p}\left(\int_{2^{j} \overline{\bar{p}}}^{\infty}\left[f_{j}^{*}(\tau)\right]^{p_{1}} d \tau\right)^{p / p_{1}} \frac{d t}{t}\right)^{r / p}\right)^{1 / r} .
\end{align*}
$$

Now the substitution $t^{\bar{p}} \rightarrow t$ and Hardy's inequality (see, e.g., [2, p. 124]) show that the first sum in (4) is at most

$$
\begin{aligned}
& c\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{0}\right)}\left(\int_{0}^{\infty}\left(\frac{1}{t} \int_{0}^{2^{j} t}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{p / p_{0}} d t\right)^{r / p}\right)^{1 / r} \\
& \leq c\left(\sum_{j \in \mathbb{Z}} 2^{j(1-r / p)}\left(\int_{I_{j}}|f(\xi)|^{p} d \xi\right)^{r / p}\right)^{1 / r} \leq c\|f\|_{A_{p, r}}
\end{aligned}
$$

Since the rearrangement is non-increasing, the same substitution yields that the second sum in (4) is bounded by

$$
\begin{aligned}
& c\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{1}\right)}\left(\int_{0}^{\infty}\left(\frac{1}{t} \int_{2^{j} t}^{\infty}\left[f_{j}^{*}(\tau)\right]^{p_{1}} d \tau\right)^{p / p_{1}} d t\right)^{r / p}\right)^{1 / r} \\
& \leq c\left(\sum_{j \in \mathbb{Z}} 2^{j(1-r / p)}\left(\int_{0}^{\infty}\left(\sum_{k=0}^{\infty} 2^{k}\left[f_{j}^{*}\left(2^{k} t\right)\right]^{p_{1}}\right)^{p / p_{1}} d t\right)^{r / p}\right)^{1 / r} \\
& \leq c\left(\sum_{j \in \mathbb{Z}} 2^{j(1-r / p)}\left(\sum_{k=0}^{\infty} 2^{k p / p_{1}} \int_{0}^{\infty}\left[f_{j}^{*}\left(2^{k} t\right)\right]^{p} d t\right)^{r / p}\right)^{1 / r} \\
& =c\left(\sum_{j \in \mathbb{Z}} 2^{j(1-r / p)}\left(\sum_{k=0}^{\infty} \frac{1}{2^{k\left(1-p / p_{1}\right)}} \int_{I_{j}}|f(\xi)|^{p} d \xi\right)^{r / p}\right)^{1 / r} \leq c\|f\|_{A_{p, r}}
\end{aligned}
$$

Therefore, we get

$$
\begin{equation*}
\|f\|_{\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta}, p} \leq c\|f\|_{A_{p, r}} \tag{5}
\end{equation*}
$$

which proves the embedding $A_{p, r} \subset\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}$.
To complete the second item, let us show that there exists a function $f \in$ $\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}$ such that $f \notin A_{p, r}$. Let $f$ be of the form

$$
f=\sum_{j=1}^{\infty} c_{j} \chi_{\left(2^{j}, 2^{j}\left(1+a_{j}\right)\right)}
$$

where sequences $\left\{c_{j}\right\},\left\{a_{j}\right\}$ will be specified later on. We now only point out that $a_{j}<1,\left\{a_{j}\right\}$ is decreasing and tends to zero. It is easy to see that

$$
\begin{equation*}
\|f\|_{A_{s, r}} \asymp\left(\sum_{j=1}^{\infty} 2^{j} c_{j}^{r} a_{j}^{r / s}\right)^{1 / r} \tag{6}
\end{equation*}
$$

Next, a simple calculation shows that

$$
\left(\int_{0}^{2^{j} t^{\bar{p}}}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{r / p_{0}}= \begin{cases}\left(2^{j}\right)^{r / p_{0}} c_{j}^{r} t^{\bar{p} r / p_{0}}, & 0<t \leq a_{j}^{1 / \bar{p}} \\ c_{j}^{r}\left(2^{j} a_{j}\right)^{r / p_{0}}, & t>a_{j}^{1 / \bar{p}}\end{cases}
$$

and

$$
\left(\int_{2^{j} t^{\bar{p}}}^{\infty}\left[f_{j}^{*}(\tau)\right]_{1}^{p} d \tau\right)^{r / p_{1}} \leq c_{j}^{r}\left(2^{j} a_{j}\right)^{r / p_{1}} \chi_{\left(0, a_{j}^{1 / \bar{p}}\right)}(t)
$$

Therefore,

$$
\begin{aligned}
& K\left(f, t ; A_{p_{0}, r}, A_{p_{1}, r}\right) \\
& \quad \asymp\left(\sum_{j=1}^{\infty}\left(\left(2^{j} c_{j}^{r} t^{\bar{p} r / p_{0}}+2^{j} c_{j}^{r} a_{j}^{r / p_{1}} t^{r}\right) \chi_{\left(0, a_{j}^{1 / \bar{p}}\right)}(t)+2^{j} c_{j}^{r} a_{j}^{r / p_{0}} \chi_{\left(a_{j}^{1 / \bar{p}}, \infty\right)}(t)\right)\right)^{1 / r} \\
& \quad \asymp\left(\sum_{k=1}^{\infty}\left(t^{\bar{p} r / p_{0}} \sum_{j=1}^{k} 2^{j} c_{j}^{r}+t^{r} \sum_{j=1}^{k} 2^{j} c_{j}^{r} a_{j}^{r / p_{1}}+\sum_{j=k+1}^{\infty} 2^{j} c_{j}^{r} a_{j}^{r / p_{0}}\right) \chi_{\left(a_{k+1}^{1 / \bar{p}}, a_{k}^{1 / \bar{p}}\right)}(t)\right. \\
& \left.\quad+\|f\|_{A_{p_{0}, r}} \chi_{\left(a_{1}^{1 / \bar{p}}, \infty\right)}(t)\right)^{1 / r} .
\end{aligned}
$$

From this we get
(7) $\|f\|_{\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}}^{p}$

$$
\begin{aligned}
\leq & c \sum_{k=1}^{\infty}\left\{\left(\sum_{j=1}^{k} 2^{j} c_{j}^{r}\right)^{p / r} \int_{a_{k+1}^{1 / \bar{p}}}^{a_{k}^{1 / \bar{p}}} t^{\bar{p}-1} d t+\left(\sum_{j=1}^{k} 2^{j} c_{j}^{r} a_{j}^{r / p_{1}}\right)^{p / r} \int_{a_{k+1}^{1 / \bar{p}}}^{a_{k}^{1 / \bar{p}}} t^{\frac{\bar{p}\left(p_{1}-p\right)}{p_{1}}}-1\right.
\end{aligned} t t r\left(\sum_{j=k+1}^{\infty} 2^{j} c_{j}^{r} a_{j}^{r / p_{0}}\right)^{p / r} \int_{a_{k+1}^{1 / \bar{p}}}^{a_{k}^{1 / \bar{p}}} \frac{d t}{\left.t^{\frac{\bar{p}\left(p-p_{0}\right)}{p_{0}}+1}\right\}+c\|f\|_{A_{p_{0}, r}^{p / r}}^{p}} \begin{aligned}
\leq & c \sum_{k=1}^{\infty}\left\{\left(\sum_{j=1}^{k} 2^{j} c_{j}^{r}\right)^{p / r}\left(a_{k}-a_{k+1}\right)+\left(\sum_{j=1}^{k} 2^{j} c_{j}^{r} a_{j}^{r / p_{1}}\right)^{p / r}\left(a_{k}^{\frac{p_{1}-p}{p_{1}}}-a_{k+1}^{\frac{p_{1}-p}{p_{1}}}\right)\right. \\
& \left.+\left(\sum_{j=k+1}^{\infty} 2^{j} c_{j}^{r} a_{j}^{r / p_{0}}\right)^{p / r}\left(\frac{1}{a_{k+1}}\right)^{\frac{p-p_{0}}{p_{0}}+\frac{1}{\bar{p}}}\left(a_{k}^{1 / \bar{p}}-a_{k+1}^{1 / \bar{p}}\right)\right\}+c\|f\|_{A_{p_{0}, r}^{p / r}}^{p}
\end{aligned}
$$

We are now in a position to specify the sequences $\left\{c_{j}\right\},\left\{a_{j}\right\}$ so that the right side of (7) is finite, while the series in (6) diverges for $s=p$. Set

$$
c_{j}=2^{-j / r}, \quad a_{j}=(j \log (j+1))^{-p / r}
$$

Then, in view of (6),

$$
\|f\|_{A_{p_{0}, r}}^{r} \asymp \sum_{j=1}^{\infty} \frac{1}{(j \log (j+1))^{p / p_{0}}}<\infty
$$

while

$$
\|f\|_{A_{p, r}}^{r} \asymp \sum_{j=1}^{\infty} \frac{1}{j \log (j+1)}=\infty
$$

It remains to show that the series on the right side of (7) converges. Simple estimates yield

$$
\begin{aligned}
a_{k}-a_{k+1} & \leq \frac{c}{k^{p / r+1}(\log (k+1))^{p / r}}, \\
a_{k}^{\frac{p_{1}-p}{p_{1}}}-a_{k+1}^{\frac{p_{1}-p}{p_{1}}} & \leq \frac{c}{k^{\frac{p\left(p_{1}-p\right)}{r p_{1}}+1}(\log (k+1))^{\frac{p\left(p_{1}-p\right)}{r p_{1}}}} \\
\left(\frac{1}{a_{k+1}}\right)^{\frac{p-p_{0}}{p_{0}}+\frac{1}{\bar{p}}}\left(a_{k}^{1 / \bar{p}}-a_{k+1}^{1 / \bar{p}}\right) & \leq c k^{\frac{p\left(p-p_{0}\right)}{r p_{0}}-1}(\log (k+1))^{\frac{p\left(p-p_{0}\right)}{r p_{0}}}
\end{aligned}
$$

and

$$
\begin{aligned}
\left(\sum_{j=1}^{k} 2^{j} c_{j}^{r}\right)^{p / r} & =k^{p / r} \\
\left(\sum_{j=1}^{k} 2^{j} c_{j}^{r} a_{j}^{r / p_{1}}\right)^{p / r} & \leq c \frac{k^{\frac{p\left(p_{1}-p\right)}{r p_{1}}}}{(\log (k+1))^{p^{2} / r p_{1}}} \\
\left(\sum_{j=k+1}^{\infty} 2^{j} c_{j}^{r} a_{j}^{r / p_{0}}\right)^{p / r} & \leq \frac{c}{k^{\frac{p\left(p-p_{0}\right)}{r p_{0}}}(\log (k+1))^{p^{2} / r p_{0}}} .
\end{aligned}
$$

Hence, the series on the right side of (7) is at most

$$
c \sum_{k=1}^{\infty} \frac{1}{k(\log (k+1))^{p / r}}<\infty
$$

as required.
To prove (iii), it suffices to demonstrate that the estimate converse to (5) holds. Indeed, in this case (1) and change of variables $2^{j} t^{\bar{p}} \rightarrow t$ yield

$$
\begin{align*}
&\|f\|_{\left(A_{p_{0}, p}, A_{p_{1}, p}\right)_{\theta}, p}  \tag{8}\\
& \asymp c\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-p / p_{0}\right)} \int_{0}^{\infty} t^{-\theta p}\left(\int_{0}^{2^{j} t^{\bar{p}}}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{p / p_{0}} \frac{d t}{t}\right)^{1 / p} \\
&+c\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-p / p_{1}\right)} \int_{0}^{\infty} t^{(1-\theta) p}\left(\int_{2^{j} t^{\bar{p}}}^{\infty}\left[f_{j}^{*}(\tau)\right]^{p_{1}} d \tau\right)^{p / p_{1}} \frac{d t}{t}\right)^{1 / p} \\
& \asymp c\left(\sum_{j \in \mathbb{Z}} \int_{0}^{\infty}\left(\frac{1}{t} \int_{0}^{t}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{p / p_{0}} d t\right)^{1 / p} \\
&+c\left(\sum_{j \in \mathbb{Z}} \int_{0}^{\infty}\left(\frac{1}{t} \int_{t}^{\infty}\left[f_{j}^{*}(\tau)\right]^{p_{1}} d \tau\right)^{p / p_{1}} d t\right)^{1 / p} \\
& \geq c\left(\sum_{j \in \mathbb{Z}} \int_{0}^{\infty}\left[f_{j}^{*}(t)\right]^{p} d t\right)^{1 / p}+c\left(\sum_{j \in \mathbb{Z}} \int_{0}^{\infty}\left[f_{j}^{*}(2 t)\right]^{p} d t\right)^{1 / p} \geq c\|f\|_{L^{p}}
\end{align*}
$$

and we are done.
We now consider the last case $p<r<\infty$. Applying (1) and Hölder's inequality yields
(9) $\|f\|_{A_{p, r}} \leq c\left(\sum_{j \in \mathbb{Z}} 2^{j}\left(\int_{0}^{2}\left[f_{j}^{*}\left(2^{j} t\right)\right]^{p} d t\right)^{r / p}\right)^{1 / r}$

$$
\begin{aligned}
& \leq c\left(\sum_{j \in \mathbb{Z}} 2^{j p / r} \int_{0}^{2}\left[f_{j}^{*}\left(2^{j} t\right)\right]^{p} d t\right)^{1 / p} \\
& \leq c\left(\int_{0}^{2}\left(\sum_{j \in \mathbb{Z}} 2^{j}\left[f_{j}^{*}\left(2^{j} t\right)\right]^{r}\right)^{p / r} d t\right)^{1 / p}
\end{aligned}
$$

$$
\leq c\left(\int_{0}^{2}\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{0}\right)}\left(\frac{1}{t} \int_{0}^{2^{j} t}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{r / p_{0}}\right)^{p / r} d t\right)^{1 / p}
$$

$$
\leq c\left(\int_{0}^{\infty} t^{-\theta p}\left(\sum_{j \in \mathbb{Z}} 2^{j\left(1-r / p_{0}\right)}\left(\int_{0}^{2^{j} t^{\bar{p}}}\left[f_{j}^{*}(\tau)\right]^{p_{0}} d \tau\right)^{r / p_{0}}\right)^{p / r} \frac{d t}{t}\right)^{1 / p}
$$

$$
\leq c\|f\|_{\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}}
$$

which gives the imbedding $\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p} \subset A_{p, r}$. To complete the proof, we show that there exists a function $f \in A_{p, r} \backslash\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}$. As above, let $f$ be of the form

$$
f=\sum_{j=1}^{\infty} c_{j} \chi_{\left(2^{j}, 2^{j}\left(1+a_{j}\right)\right)}
$$

It is clear that $\left(f_{j}\right)^{*}\left(2^{j} t\right)=c_{j} \chi_{\left(0, a_{j}\right)}(t)$, and hence,

$$
\begin{aligned}
\|f\|_{\left(A_{p_{0}, r}, A_{p_{1}, r}\right)_{\theta, p}} & \geq c\left(\int_{0}^{2}\left(\sum_{j \in \mathbb{Z}} 2^{j}\left[f_{j}^{*}\left(2^{j} t\right)\right]^{r}\right)^{p / r} d t\right)^{1 / p} \\
& \geq c \sum_{k=1}^{\infty} \int_{a_{k+1}}^{a_{k}}\left(\sum_{j=1}^{k} 2^{j}\left[f_{j}^{*}\left(2^{j} t\right)\right]^{r}\right)^{p / r}=\sum_{k=1}^{\infty}\left(\sum_{j=1}^{k} 2^{j} c_{j} r\right)^{p / r}\left(a_{k}-a_{k+1}\right) .
\end{aligned}
$$

Set now

$$
c_{j}=2^{-j / r}, a_{j}=\left(j^{p / r} \log (j+1)\right)^{-1} .
$$

Then, in view of (6),

$$
\|f\|_{A_{p, r}}^{r} \asymp \sum_{j=1}^{\infty} \frac{1}{j(\log (j+1))^{r / p}}<\infty
$$

while

$$
\sum_{k=1}^{\infty}\left(\sum_{j=1}^{k} 2^{j} c_{j} r\right)^{p / r}\left(a_{k}-a_{k+1}\right) \asymp \sum_{j=1}^{\infty} \frac{1}{j \log (j+1)}=\infty .
$$

The theorem is proved.
Remark 3.1. In the proof of (ii) and (iv) estimates from above and from below, respectively, were used for the norm in the interpolation space (see (4) and what follows, and (9)). The counterexamples given above show that the corresponding bounds are in principle impossible to be two-sided, except the only case $r=p$ (see (8)).

Proof of Theorem 2.2 Keeping in mind reiteration, we first consider the case $r_{0}=1$ and $r_{1}=\infty$. Denoting

$$
T_{p} f(u)=\left(\frac{1}{u} \int_{u \leq|\xi| \leq 2 u}|f(\xi)|^{p} d \xi\right)^{1 / p}
$$

let us show that

$$
\begin{equation*}
\int_{0}^{t}\left(T_{p} f\right)^{*}(\tau) d \tau \leq K\left(f, t ; A_{p, 1}, A_{p, \infty}\right) \leq 25 \int_{0}^{t}\left(T_{p} f\right)^{*}(\tau) d \tau \tag{10}
\end{equation*}
$$

The left side of (10) is trivial. To prove the right side of (10), set

$$
g(x)=f \cdot \chi_{(-t, t)}(x), \quad h(x)=f(x)-g(x) .
$$

Then

$$
\|g\|_{A_{p, 1}}=\int_{0}^{t} T_{p} f(u) d u \leq \int_{0}^{t}\left(T_{p} f\right)^{*}(\tau) d \tau
$$

We now observe that

$$
\begin{aligned}
T_{p} f(u) & \leq \inf _{s \in(u / 2, u)}\left(\frac{1}{u} \int_{s \leq|\xi| \leq 4 s}|f(\xi)|^{p} d \xi\right)^{1 / p} \leq \inf _{s \in(u / 2, u)}\left(T_{p} f(s)+2 T_{p} f(2 s)\right) \\
& \leq\left(T_{p} f(s)+2 T_{p} f(2 s)\right)^{*}(u / 2) \leq\left(T_{p} f\right)^{*}(u / 4)+2\left(T_{p} f\right)^{*}(u / 2) \leq 3\left(T_{p} f\right)^{*}(u / 4)
\end{aligned}
$$

Since $h(x)=0$ for $x \in(-t, t)$, we obtain

$$
\|h\|_{A_{p, \infty}}=\sup _{u>0}\left(\frac{1}{u} \int_{u \leq|\xi| \leq 2 u}|h(\xi)|^{p} d \xi\right)^{1 / p}=\sup _{u>t / 2} T_{p} f(u) \leq 3\left(T_{p} f\right)^{*}(t / 8)
$$

and thus

$$
\begin{aligned}
K\left(f, t ; A_{p, 1}, A_{p, \infty}\right) & \leq\|g\|_{A_{p, 1}}+t\|h\|_{A_{p, \infty}} \leq \int_{0}^{t}\left(T_{p} f\right)^{*}(\tau) d \tau+3 t\left(T_{p} f\right)^{*}(t / 8) \\
& \leq \int_{0}^{t}\left(T_{p} f\right)^{*}(\tau) d \tau+24 \int_{0}^{t / 8}\left(T_{p} f\right)^{*}(\tau) d \tau \leq 25 \int_{0}^{t}\left(T_{p} f\right)^{*}(\tau) d \tau
\end{aligned}
$$

as required.
It is clear that (10) proves the theorem when $r_{0}=1$ and $r_{1}=\infty$. One can then apply the Holmstedt reiteration theorem (see, e.g., [2, p. 307]) to describe the K-functional for any of the couples $\left(A_{p, r_{0}}, A_{p, r_{1}}\right)$ and get (2) for all $1<r_{0}<r_{1}<\infty$.

Acknowledgements. The authors are grateful to the referees for valuable remarks.

## References

1. E.S. Belinskii, E. Liflyand, and R. Trigub, The Banach algebra $A^{*}$ and its properties, J. Fourier Anal. Appl. 3 (1997), 103-129.
2. C. Bennett and R. Sharpley, Interpolation of Operators, Academic Press, Boston, 1988.
3. J. Bergh and J. Löfström, Interpolation Spaces. An Introduction, Springer-Verlag, Berlin-New York, 1976.
4. A. Beurling, On the spectral synthesis of bounded functions, Acta Math. 81 (1948), 225-238.
5. D. Borwein, Linear functionals connected with strong Cesàro summability, J. London Math. Soc. 40 (1965), 628-634.
6. M. Ganzburg and E. Liflyand, Estimates of best approximation and Fourier transforms in integral metrics, J. Approx. Theory 83 (1995), 347-370.
7. D. Giang and F. Móricz, Multipliers of Fourier transforms and series on $L^{1}$, Arch. Math. (Basel) 62 (1994), 230-238.
8. A. Jakimovski and D.C. Russell, Representation of continuous linear functionals on a subspace of a countable Cartesian product of Banach spaces, Studia Math. 72 (1982), 273-284.
9. E. Liflyand, On asymptotics of Fourier transform for functions of certain classes, Anal. Math. 19 (1993), 151-168.
10. E. Liflyand, A family of function spaces and multipliers, Function spaces, interpolation spaces, and related topics, Israel Math. Conf. Proc. 13, (Haifa, 1995), 141-149, Bar-Ilan Univ., Ramat Gan, 1999.
